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Seat No.:

Enrolment No.

GUJARAT TECENOLOGICAL UNIVERSITY

DIPLLOMA ENGINEERING — SEMESTER 1/2- EXAMINATION - SUMMER- 2016

Subject Code: 3310102 Date: 07-06-2016
Subject Name: Applied Mathematics - 1

Time: 02:30 PM TO 05:00 PM Total Marks: 70
Instructions:

1. Attempt ALL questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5.English version is authentic.

Q.1

Fill in the blanks using appropriate choice from the given options. 14
logllog2log3logd=_____

a.0 b. log24 c. log 10 d. 1

log 1 log 2 log 3 log 4=

.0 ol log24 5.log 10 S.1

x 1

i [} 5|=0thenx=

a.-2 b.1 c.2 d.0
°ﬁ|z ;| =0 a?l dl x =

u.-2 L1 5.2 S.0
Y-Intercept of line 2x+5y-10=0is

a2 b.-2 c.0 d.1
Uil 2x+5y-10 =0 oll Y- Bcl:Wls =

) ol.-2 5.0 5.1
Ka=(1,1,1yand b=(23,1) then |a— b| =

a.5 b5 cV2 d.1

Aa = (1,1,1)™b = (2,3,1),dl|a— b|=

A5 W5 52 5.1

| 1 log, x| B

logyy 1 |~

a. | b. 0 c. 1-log,, xy d. None ofthese
| 1 log, x| N

log, y 1 |~

.1 .0 5.1- log,y xy s. Alsuel o8l
I the 10™ term of an A P. is 20,then sum of its first 19 term is

alg80 b. 380 c. 150 d. 210

ol AHIcR BRllo] 10 of UE 20 8lal ll YuUH 19 UEL oll Aalldl=
V.180 61,380 5.150 $.210

is Unit vector
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Q.2

¢

10

0

11

11

12

=

13

13

14

¥

11 b. (1,1 11 11

2. (ﬁ’\/_i) (-0 C‘(z’z) d'( 2’ 2)
sy e 8.

1 1 11 1 1
Uz  waD 5(3:3) s(-3-3)
Area of rectangle with length 250cm and width 80cm is cm?

a. 20,000 b.2 ¢.200 d.20
250 AML. clowts wal 80 M. uslous ol datdlus] AAsa-
3(.20,000 o2 5.200 5.20
cos(g + 9) =

a.cos 6 b. sin & ¢.-cos 0 d.-sin &
cos(g + 9) =

W.cos O o, sin 8 $.-cos @ S.-sin 8
Midpoint of the point A(1,1) and B(3,5) is

a. (0,0) b.(3,2) c.(2,3) d.(3,5)
A(1,1) Al B@3,5) of Healdg =

(0,0 o.(3,2) 5.(2,3) 5.(3,5)
% radian = degree

a. 40° b. 80° c.20° d.10°
Bast wu- 2 HU

. 40° oL.80° 5.20° 5.10°
Volume of a cube of 5cm length is

a. 25 b.125 ¢.100 d.150
5 Al cousaou Axeole] dolsil=____

.25 ol.125 5.100 5.150
axda=

a. 0 b.a c.|al d.1
axa=______.

.0 o.a 5.lal 5.1
Fa=2,-21)and b=(1,33)thena. b =

a1 b.0 c.2 d.-1
g =2-21)M b=(133) Al a.b=

.1 0l.0 5.2 5.-1

Attempt any twoSI8URL & il osellol L.
1 1

1
Prove that : + + =1
logyxyz logyxyz logzxyz

Aol 5A ¥ ——+ ——+——=1
log,xyz logyxyz logzxyz

Foran A.P 3, 8, 13, 18 ... Find the 17™ and 40™ terms

AHicRAR 3, 8, 13,18 ...of UtlR Y ual A Y ue A

Three numbers are consecutive term of a G.P. Their Sum and Product are
Zand 1, respectively. Find the Numbers
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3.

(b)

Q3 @

(b)

Q4 (a

AL vl AHRUTRARN ot 5015 UEl B. droll ARl el

2JRUSLR Aajsil Laall B, dl A Aveudl gk,

5

Attempt any twoSI8URL & all osellol L.

If the AM and GM of two positive real nambers are 7 and 2+ 6 respectively.
Find the numbers

ol o ot Avalllell AHIAR HeaLs el IRt Heals Wojsi 7 Wal
276 8.l d d Avaudl 2kl

If log {ath)

°5’110g (azb)

Prove that :

08

= %(108 a + log b ) then Prove that a>+b’=7ab

= %(loga +logh) dl Al 53 ¥ a’+b’=7ab

1

1

1

+ +
log, 64 logﬁ64 logzﬁ 64

AUA A 5 ¥ —

1

T2
1

: + + =
log, 64 logﬁﬁtl- logzﬁM- 2

Attempt any twoSISURL 6L oll orellol AL,

Find value of determinant

auas

1
3
1

FA=

1
‘kﬁA=[3
1

f A= [i ‘31] then Prove that A2 — SA+7I =0

o A=[i _31] Al U@ 53 5 AZ-5A+71=0

2
1
-2

-2
3
-3

2
1

N W=
= =N W

2 3
1 2

2 3
1 2
-2 1

ol (Bucl

] then find AZ

dl A2 alltll

-2
3
-3

sl

Attempt any twoSISURL 6L oll arellol w1l

1
FA=|3
2
a)A+B

1
%A = |3
2

a) A+B

4
2|l and B =

5.
b) A-B

Wl B =

[S2 B SO R

b) A-B

-1 -2]
0 5

| 3 1
c) 2A-B

ol

then find

d) 3A-2B

d) 3A-2B  aldl

06

08

A=, |andB=[] Z]thenfind AB and BA

slA =[_11 _11]2:{& B= [; g]cﬂ AB el BA 9t
Solve the following equation by Matrix Method 3x-2y =8 and 5x+4y =6
Al5200 3x-2y = 8 Wsl Sx+4y = 6 oll AMse(l Acell B3 Aol

Attempt any twoSlSURL 6l o1l rellol Ll

Find equation of line which passes through the point (2,4) and Perpendicular
to the line 5x-7y+11 =0
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Q.5

W A

(b)

(a)

Qull 5x-7y+11 =0 ol dot Aa (g (2,4) Hiell R Ul 2ull of

uls2eL el

Prove that points (0,0}, (1,0) and (2,0) are collinear.

Ul 520 3 (0,0), (1,0) wal (2,0) uHw (gl B.

Find area of the triangle with sides a = 8cm , b = 10cm and ¢ = 6¢cm

la=8 A b=10 A.H wal c=6 A czyell cdeusaou Aslag
Aolsn 2l

Attempt any twoSl8UQL 6 all oscllol .

The total surface area of a cylinder is 1386 cm?, If the curved surface area of
this cylinder is 9" part of its total surface area then find radius and height of
the cylinder.

A Yol olAUsIRe] S Y50 1386 AH® 8. doll asuwidls Aaisn

doll A Y650l A5 otaHial Fag sl dl d stousiell Azauuel

GLas sl

Find the equation of line passing through (1,6) and (-2,5). Also find the slope
of the line, X-intercept and Y-intercept of this line.

(lg2(1,6) W (2,50l uar acdl 2ue] wllse el daes

Lol Bl ,X- Bl WS ol Y-uic:uls alul .

Find Equation of circle with centre (3,5) and passing through point of
intersection of lines 2x+y-3=0 and x-y-9 =0

Ul 2x+y-3=0 UA x-y-9 =0 ol DeatlelgHiall UAMR U wel Vo]
Yom (3,5) &lal dall adue] wlsweL Amal,

Attempt any twoSISUGL 6L o1l oellol ALl

Prove that angle between vectors 3i + j + 2k and 2i — 2j + 4k is Sin'l(%)

ol ARA3i + j + 2k 2i — 2j + 4k <A ol YR 6 &lal dl WA

sA 30 = sin'l(%)

Under the effect of forces i +j — 2k and 2i + 2j — 4k an object is displaced
from (i — ) to (3i + k). Then find the work done.

ol WeLSl ool i+ 2k Aol 2i +2j — 4k ofl UUR &6 (i —j) &l
(i + k) AUALAR 52 ol doll gll 4Aet stal elel.

cosf+cos38+coshe

Prove that : sinB+sin3@+sins56 = cot30
cosB+cos368+cosh6

A5 : == — 5130
sinf+sin3f+sinsg

Attempt any twoSISUGL 6L o1l oellol ALl

K|

Draw the Graph of y =sinx , —g <X
y = sinxellRAUAW ELR), weU—T<x<

sin(g-i-é) tan(m+8) sec(z—n+9) _
cos(2m—8) cot(g—é) cosec(m—6)

<
T
2

Prove that ;

08
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in(Z+6 ELA
2 @A G0 | ey | sec(5e0)
cos(Zm—8) co:(;—g) cosec(m—8)
3. Prove that ; tan 20"+ tan 25" + tan 20" -tan 25° =1
3. A s3] : tan 20°+tan 25° + tan 20° -tan 25° = 1

seal ol ol ol o ol ok sl ol s R sk R R ok OR
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